
46

800.872.3267  •  Fax 800.232.7329

10027 S. 51st Street, Ste 102 
Phoenix, Arizona 85044

www.adamsrite.com

8600 Series
CONCEALED VERTICAL ROD

8600 Series
CONCEALED VERTICAL ROD

EXIT DEVICES

#6-32 X 1/2
CAP SCREW

      #10-32 x 2
FLAT HEAD SCREW
P/N S262-10R32-MP
1 REQ'D

1/16" TRIM RING
FOR USE WITH 1"
CYLINDER ONLY 
P/N 24-0007-01
2 REQ'D

CYLINDER
ESCUTCHEON
P/N 8650-XXX

LOCKING NUT
P/N 24-0061

MORTISE
CYLINDER
P/N 4036-01-XX-XXX

UPPER BOLT
P/N 26-0094

DOGGING KEY  
P/N 29-0481-MP

END CAP
P/N      41-0903-IP (METAL)

DOGGING ASSEMBLY
P/N 31-0265-IP

#10-32 X 5/8
SCREW, SELF TAPPING
4 REQ'D

#10 X 1 1/4 PAN HEAD
SELF-TAPPING SCREW
2 REQ'D

#10-32 X 1/2 PAN HEAD SCREW
2 REQ'D

PUSH BAR ASS'Y

LOWER BOLT ASSY
P/N 31-0295

SPIDER 
P/N 25-0062-01-MP

#10-32 X 5/16 SCREW,
FLAT HEAD
5 REQ'D

END CAP ASS'Y
P/N      41-0902-05-IP (METAL)

STRIKE PLATE ASS'Y
P/N 31-0945

LOWER BOLT GUIDE ASS'Y
P/N 31-0964-IP
BOLT GUIDE BUSHING
P/N 25-0506-MP  

ACTUATOR ASS'Y
P/N 31-0944-IP

CVR FINAL ASS'Y
P/N 41-0935

*
*

*

*

17

16

15

19

18

14

13
6

5

4

7

12

1

2 REQ'D
P/N S242A06-08-MP

8

11

9

10

3

2

*INCLUDED IN 91-0835-01-XXX 

8600 Series Narrow Stile Concealed Vertical Rod
ITEM PART NUMBER DESCRIPTION UNITS PKGD 2015 PRICE

1 26-0094 Upper Bolt Each  $7.00 

2 25-0062-01-MP Spider Pkg. of 10  $17.00 

3 41-0935 CVR Final Ass'y  (complete with bolts) Each  $140.00 

4 41-0903-IP End Cap (Hinge) - Metal Each  $18.00 

5 31-0265-IP Dogging Ass'y (Complete) Each  $16.00 

6

Push Bar -  
313, 335, 628 finish

Push Bar Ass'y: Order by Exit Device Series (8600), door opening width  
and 313, 335, or 628 finish Each  $115.00 

Push Bar -  
630 finish

Push Bar Ass'y: Order by Exit Device Series (8600), door opening width  
and US32D (630) finish Each  $310.00 

Push Bar -  
605, 606, 629 finish

Push Bar Ass'y: Order by Exit Device Series (8600), door opening width  
and 605, 606, or 629 finish (US3, US4, US32) Each  $350.00 

7 29-0481-MP Dogging Key Pkg. of 10  $26.00 

8 41-0902-05-IP End Cap Ass'y (Nose) - Metal Each  $22.00 

9 31-0964-IP Lower Bolt Guide Ass'y Each  $6.00 

10 25-0506-MP Bolt Guide Bushing Pkg. of 10  $6.00 

11 31-0295 Lower Bolt Ass'y Each  $13.00 

12 S262-10R32-603-MP #10-32 × 2 Flat Head Screw Pkg. of 10  $5.00 

13 24-0007-01 1/16" Trim Ring (For 1" Cylinder - 2 req'd) Each  $11.00 

14 24-0061 Locking Nut Each  $6.00 

15 S242A06-08-MP #6-32 × 1/2 Cap Screw  (Rod Piercing) Pkg. of 10  $9.00 

16 31-0944-IP Actuator Ass'y (Top) Each  $27.00 

17 31-0945 Strike Plate Ass'y Each  $17.00 

18 4036-01-XX-XXX Mortise Cylinder Each  LIST 

19 8650-XXX Cylinder Escutcheon Kit Each  LIST 

NS 80-0180-39-01 Template, 8600 (Device) Each  $10.00 

NS 80-0180-39-02 Template, 8600 (Strike) Each  $10.00 

NS 80-0180-51 Installation Sheet, 8600 Each  Email only 

* 91-0835-01-603 Screw Pack Each  $4.00 

LIST = Refer to current pricelist 
NS = Not shown


